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[Participant ID

Participant Name

Test Center Name B.S. Infotech Solutions
Test Date 06/04/2021

Test Time 10:30 AM - 12:00 PM
Subject NTPC

* Note

Correct Answer will carry 1 mark per Question.
Incorrect Answer will carry 1/3 Negative mark.

1. Options shown in green color with a tick icon are correct.

Y STl 41S / RAILWAY RECRUITMENT BOARDS
& U o808 - T & o &t - CEN01/2019- NTRC

2. Chosen option on the right of the question indicates the option selected by the candidate.

@1 The negative of a non-zero rational number is:

Ans X 1. an irrational number

+ 2 arational number
/X 3. zero

< 4 surd

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891112147
94891148585
94891148586
94891148587
94891148588
Answered

2

ol e




Q2 st @ wier @1 g 2023 F CRAS FT Featar gAE H AEE B2
Ans o 1. T

X 2 R

X 3 S

X 4 ZfdoT ST

Question ID :
Option 11D
Option 2 ID
Option 31D
Option 4 ID
Status :
Chosen Option :

94891112404

1 94891149614
1 94891149616
1 94891149613
1 94891149615

Answered
2

93«10 fEafr @A™ (10 Degree Channel)” o7& & fFad T&T &2
Ans 1. ATAITER o€

X 2. TETEAT SHIHAZ
v i HEA TE AR ETEEg
X 4 o @Y

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

94891112427
94891149705
94891149706
94891149707
94891149708
Answered

Chosen Option: 3

Y FERRET T Y AT T T T A

Ans

V1 THd 3R AR H GG HARE H AT §
X2

FEEedi HEe, 9ftHaT UameH fr fRaT & AW §A F T v 3l ArewH & ST w1ar §
X 3
9oISAT (Mucus) HTHTRT Fr 3FeFAT 93d F 35T T S99 &
X 4

ez afian, smArew A gEgEAnG 3 N aftwa T iR AT (Mucus) FFT w €

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

94891112414
94891149656
94891149654
94891149655
94891149653
Not Answered




Q.5 fArffET & O B 3EsmEd (IT) * TrraTHuas (FSSAl) ZaRT °1d & U5 S99 & @ T & &9

F oiftg frar o 37

K HEAES (IT) FAR
v 2 HTEIEE (IIT) TmefieR
X3 agamEdr (IT) A9z
X 4 HTSHES (IIT) feeelr

Question ID :

Option 11D
Option 2 ID
Option 31D
Option 4 ID
Status :

Chosen Option :

94891112432

1 94891149725
1 94891149727
1 94891149728
1 94891149726

Not Answered

Q.6 F FrF unr & Rew & T g T TEWE F 9 gH F 6 h A T A § 7@ 9w F Bl
forem 3 srory o 5T g F1 8 h F F7 W B IR 4w Fr A7 3 kmth 7, T oiT T F B R

e AT FfFT)

Ans of 1. 21 km/h
X 2 20.5 km/h
X 3.10.375 km/h
X 410 km/h

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891112163
94891148649
94891148651
94891148652
94891148650
Answered

1

Q.7 =iy aw Fwwmet F & gEl, TEer ¥ 9 TR & S0 dmm, gEh @ W aph & ol v, S g

9T TR §, 3T St dwemst @ oA 1900 ¥, & wew Sl wer A A
ans o/ 1100

X 21200

X3 50

X 4. 6000

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891112173
94891148692
94891148691
94891148690
94891148689
Answered

1




X . Faf@a d@r (Vitamin C)
X 2 Fafa@s 3 (Vitamin D)
v 3 Baf@Es F (Vitamin K)
X 4 Rrerf@e €11 (Vitamin B1)

Q8 Fig ur REda g F UFH THS F BT HTUE AT 3 Fewws Fr g w1 2

Ans

Chosen Option :

Question ID : 94891112411
Option 11D : 94891149644
Option 21D : 94891149642
Option 31D : 94891149641
Option 4 ID : 94891149643
Status : Answered
Chosen Option : 3
Q9 = =aFTA B C D EF GIHTF FoO=R a5 F 5& - 7 &5 & 3w gw w5 B § (F=0
A T FA AN C, GHF I IR TN EFT W AT F AT B, C o G & uselr AT §1 D, A
F g W I TUA W AT § D FWE F F F Hew o =wlEa ¥ F F E F o Hv gwm we
97 daT 3
A & ¥ 3R fFeaq T | i 31 872
Ans x 1. B
v 2 H
X3 E
XaF
Question ID : 94891112300
Option 11D : 94891149197
Option 21D : 94891149199
Option 31D : 94891149198
Option 4 1D : 94891149200
Status : Answered
Chosen Option : 2
Q.10 ayfior et & ¥ ufFaat i FEEE B [ERT F ¥ BT oRT @R @ e R #
HEATTAT #1715 ¥, gl avg Sae & HIaTor & YHruNUT §EE UE HAYUT &7 WUl fohar 27
A
XK. S 9T [ERR
2.
v 2 33 & faeAs e
3.
X 3 G ATl TEIOT TEPR
X o BT T THETOT ERR
Question ID : 94891112441
Option 11D : 94891149763
Option 2 ID : 94891149762
Option 31D : 94891149764
Option 4 ID : 94891149761
Status : Not Answered




O qroddr fr OeEer # v Y mTST e A @ 37

Ans

<1 8%
X2 24%
X3 12%
v 4%

Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 1D

Status

194891112425
194891149698
194891149700
194891149699
1 94891149697
: Not Answered
Chosen Option :

O Rroer sere s ¥ hEY gefT W
X 1. \fgemst & AR

X 2 FAafasR

v 5 gIEToT HIEToT

X 4 TEgIar TITH

Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891112416
94891149664
94891149661
94891149663
94891149662
Answered

3




O3 Rrafafea # @ #i7 W R 9N ¥ SEW & T FAEA I a3

P — 7 AT
Q - #AF gHE=T
R - maTer

=2

S - T=er Teaad

Ans
X1.Q PR, S
X2P, Q S, R
v3Q P S R
X455 PQ R
Question ID : 94891112419
Option 11D : 94891149673
Option 2 ID : 94891149674
Option 31D : 94891149675
Option 4 ID : 94891149676
Status : Answered
Chosen Option: 3
Q.14 ‘35w 3% e WEEare iE T J9 (Words of Freedom: Ideas of a Nation) #ras Jeas fhaer
o
Ans :
. . ST Ag%
2. digary TR
3 &, HR. IEEHT
4. gAY I I
Note: For this question, discrepancy is found in question/answer. So, This question is
ignored for all candidates.
Question ID : 94891112434
Option 11D : 94891149735
Option 2 1D : 94891149736
Option 31D : 94891149734
Option 4 1D : 94891149733
Status : Answered

Chosen Option :

1




Q.15 .
Terh (A Zlad fre T & aEftE TEaT oaTEs oT?

s XK wmRaT
W 2. =TeldF g

X 3 gisT

X 4 g

Question ID : 94891112420
Option 11D : 94891149677
Option 2 ID : 94891149679
Option 31D : 94891149680
Option 4 ID : 94891149678
Status : Answered
Chosen Option : 2
Q.16 ey AfeT o7 AFHTE F (BTN T aTen AfET) TF T G@ENT SFETAT ;T AT| T & F FAY HH
a7
Ans K. STl
X 2 Yead
v 5 FRa
X4 e
Question ID : 94891112410
Option 11D : 94891149639
Option 2 ID : 94891149638
Option 3 1D : 94891149640
Option 4 ID : 94891149637
Status : Not Answered
Chosen Option : --
Q17 37 RFeT #7 997 ¢, OGN BT 71T el & 919 FT Gy, 37 Gwedr ¥ B g
Ans
X 1. TR ARG © ATHT AT
X 2 gigar ;- Tere
v e e
X 4 FIEAT - TREAT
Question ID : 94891112295
Option 11D : 94891149179
Option 2 ID : 94891149177
Option 31D : 94891149178
Option 4 ID : 94891149180
Status : Answered
Chosen Option: 3




Q.18 =tz 514, Towd HAiftr Facdt =1 I0W & = 50 SR Tve % SgF @fue § onfee fRr

[T o4r?

Ans X1 73F gt

X 2 743 g
X 3 447 gaud
v 4428 Tt
Question ID : 94891112429
Option 11D : 94891149715
Option 21D : 94891149716
Option 31D : 94891149713
Option 4 1D : 94891149714
Status : Answered
Chosen Option: 4
Q.19 =z oW & o T AT Sifen, B 45 Mt 55 ¥ fnfaw = w9 ArEer F 3 9w FEaT
ans X 1. 2475
X 2 625
X 3 825
v 4 498
Question ID : 94891112149
Option 11D : 94891148593
Option 2 ID : 94891148596
Option 3 1D : 94891148595
Option 4 ID : 94891148594
Status : Answered
Chosen Option : 4
Q.20 36 qow T # 25 e F T W wea &1 IR 3 T F 60 e F @ fw smw oA, A
TITE TS B FET A ST
ae X120
X225
v 15
X 4 30
Question ID : 94891112161
Option 11D : 94891148642
Option 2 ID : 94891148644
Option 31D : 94891148643
Option 4 ID : 94891148641
Status : Answered
Chosen Option : 3




Q21w w7 g d9 & THTSE & SEa AT ToT ET &9 F AT 2 1 5§l do H Fg s

o &1 agura e S

Ans f1.2:3
X22:5
X35:3
X43:4
Question ID : 94891112164
Option 11D : 94891148656
Option 2 ID : 94891148654
Option 3 1D : 94891148655
Option 4 ID : 94891148653
Status : Answered
Chosen Option : 1
.22 - - 3
022 oofafe # ¥ #iF o EEST & e 9 smnfa = P
Ans x 1 ﬁ ;l ?
X 2 grEgHAe
X s Stgreir AT gagfeadt $r fFemsfa
V' i gETE FEIS F UGl (wings) #T BemsiEer
Question ID : 94891112413
Option 11D : 94891149649
Option 2 ID : 94891149651
Option 31D : 94891149650
Option 4 ID : 94891149652
Status : Answered
Chosen Option : 4
.23
2 9377 — [3 + 05 x (3.1— 2.3 x 1.02)] =1 A 7T =0y
ans 1379
v 26
X363
X 4 377
Question ID : 94891112145
Option 11D : 94891148578
Option 2 1D : 94891148580
Option 31D : 94891148579
Option 4 ID : 94891148577
Status : Answered
Chosen Option : 2




Q24 mareT w7 RiE RdT & =8 @ BE oE & So-HGT F AT 7@ wEmr ar

Ans o1 ST
W 2. Sollgralg
< 3. grrroTdT
X 4 ﬁm
Question ID : 94891112417
Option 11D : 94891149667
Option 2 1D : 94891149666
Option 31D : 94891149668
Option 4 1D : 94891149665
Status : Answered
Chosen Option : 3
Q.25 s AeE wHET & EUReT 82.5° T e e AFieaY 1@ B AE A AT foRa ST
%, TF s @ A T A @t e 87
Ans X 1. ARTIX
W 2. Sollgralg
X 3 s
X 4 g@
Question ID : 94891112426
Option 11D : 94891149702
Option 2 ID : 94891149701
Option 31D : 94891149703
Option 4 1D : 94891149704
Status : Answered
Chosen Option : 2
026 ot ¥ foFmer A, 2021 3oRIGS F AT TEART F T & 49T IJEOT H?
MV dry i TEa
X2 REg fag 1=aa
X 3. HAUTA AT
X 4 uF &g Tag
Question ID : 94891112405
Option 11D : 94891149620
Option 21D : 94891149619
Option 31D : 94891149617
Option 4 1D : 94891149618
Status : Not Answered

Chosen Option :




Y T d AT o

Ans 0

X 11— cos?a—sinZa
X 2 9secZa— 9tana = 2

3. 1— cos?a —sin*a

O 2202 EnsD IR

1—tan®30

Option 31D :
Option 41D :
Status :

Chosen Option :

Question ID :
Option 11D :
Option 21D :

94891112172
94891148685
94891148687
94891148688
94891148686
Answered

1

Q.28 Trrifra s & =77 ot Fr Gl FTer &, 3o Jeaa ot # TRl A § 9 e wd
wrelt # 7 el wtar §1 39 89 F7 99T o9, S 39 Hgdr orE o Bl w1 & S gl 28 &

74N

Ans x 1. B
v
X3 A
X 4D

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option :

94891112298
94891149191
94891149190
94891149189
94891149192
Answered

2




Q.29 &1 wHEET TP, TAE HUR W AN TAE WA @t F 99 e §) 5w Seeel o 7=

]

Ans o
X 2
X 3
X 4

m_l.m_l.

—_ P o

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status

94891112168
94891148669
94891148670
94891148671
94891148672

: Answered
Chosen Option :

1

O30 faeT meryEheRUT vd @ duH REw R &R & Femr S §7

Ans XT 5 3',.?"
X222 A%
v 17 3
X4 22 ¥

Question ID :

Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891112435
94891149738
94891149740
94891149737
94891149739
Not Answered

Q.31 3@zar 2020 &, A1 (NASA) = fieaw 3afterana (Cygnus Spacecraft) 1 =1 frE 3afeeT I &

A O TET 27

Ans X1 gerar faferamg
X 2 e Aegrar

V 3 FETAT I

X 4 qreRer oTAT

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891112431
94891149722
94891149721
94891149724
94891149723
Answered

1




Q.32 gfy Bk T ¥ A ¥ TR & TedhE ¥ ored Ry ¥ W R ¥ et R &

AT TEY T AR 32 F e £, ° 9E A9 S

Ans X 1. 9875432
X< 2. 2345789
v 31935360
(3 2)
X a =
9
Question ID : 94891112150
Option 11D : 94891148597
Option 21D : 94891148598
Option 31D : 94891148600
Option 4 1D : 94891148599
Status : Answered
Chosen Option: 3
.33 - & - -
O aRa F Feuel WY HRfEH, 1972 # fhaer sgtar €2
Ans x 1. &f
v 2 V]
KV
X 4 VI
Question ID : 94891112422
Option 11D : 94891149686
Option 2 1D : 94891149685
Option 3 1D : 94891149687
Option 4 1D : 94891149688
Status : Not Answered
Chosen Option : --
Q.34 55 vk FEa F 30%, gE BEAT F ST ST &, o @l FE w9 & 140% % SOe g S
Tgelt Tew HR gl T W aeee e S
ans X112 : 4
X23:2
X39:3
vid4:3
Question ID : 94891112157
Option 11D : 94891148625
Option 2 ID : 94891148627
Option 31D : 94891148626
Option 4 ID : 94891148628
Status : Answered
Chosen Option : 4




Q.35 fralr fa9w e s #, ALIGATOR %I LAROGITA far@m =mam &, &t 32 %z &7 & 9=g COMPUTER

F FE R B smeen?

Ans X 1. OCPMTURE
X 2 RETUPMOC
v 3 OCREPMTU
X 4 PMOCRETU

Question ID : 94891112276
Option 11D : 94891149102
Option 2 ID : 94891149101
Option 31D : 94891149104
Option 4 ID : 94891149103
Status : Answered
Chosen Option : 3
Q.36 . . . .
FafafRa & @ g sty & AT geam Jr & ar@et GERT SRR T ar?
Ans x * *
1. ﬁ?‘rﬂ? ;ﬁ%ﬂ-
v o FTETA e Afe
X 3. feemarer AfeT
X 4 HoTmes FqI Al
Question ID : 94891112408
Option 11D : 94891149630
Option 2 ID : 94891149631
Option 31D : 94891149632
Option 4 ID : 94891149629
Status : Answered
Chosen Option : 2
37 ;
VY s @ P T AT IR S F A Tmw ) osmnfE @ 3
Ans %
v 1. Sgga werer v R
A2 :
X 2 degd aRwy 7 9gFd wgT
X 3. zeifdes e
X 4 3@% -r=ro1
Question ID : 94891112415
Option 11D : 94891149660
Option 2 ID : 94891149659
Option 31D : 94891149657
Option 4 1D : 94891149658
Status : Not Answered

Chosen Option :




Q38 afy > '+ W ERRE A Y <, W EERE A g+, - PR e g X

Ans

A oRE T y - = W eRE k=

TR T &, o 5T @ i @ e el

v1i8<4+4+2=
X26+3>8=
X34>6+2X

6 =3
et w2 1

3244 < 1
X414+ 7>3=6+3>2

Ve wr el e o x>

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

94891112287
94891149148
94891149147
94891149146
94891149145

Status : Answered
Chosen Option: 1

Q39 afy >+ @ FERT T F <, —

@ wRE W g+ # fawta s g Y X

g s = AT T = < S EsRg e g i x> @
ela o & o PeefEa & o S5 @ g @@ 8
ans 1.7 B F %G 2T =7
f27>7<7+7=14
X37<7+7=6
X4+7+7>7=28
Question ID : 94891112288
Option 11D : 94891149152
Option 2 ID : 94891149150
Option 31D : 94891149149
Option 4 ID : 94891149151
Status : Answered
Chosen Option : 2
Q40 =% & i sa F afe FETT (Economic Survey) FT WERIA FIaT &7
Ans « 1 ﬁ *
X 2w =T 8=
<3
FETT TIETRT IS (Central Statistical Organisation)
X 4 FfT (NITI) 3mareT
Question ID : 94891112439
Option 11D : 94891149754
Option 2 ID : 94891149755
Option 31D : 94891149753
Option 4 ID : 94891149756
Status : Not Answered
Chosen Option : --




Q41 37 3R F T FE, S TR AT & vo fE (?) & T W 3T T B

CAE G G2

ae X1 H
v2E
<3 J
X4+ G
Question ID : 94891112283
Option 11D : 94891149130
Option 2 1D : 94891149131
Option 31D : 94891149132
Option 4 1D : 94891149129
Status : Answered
Chosen Option : 2
Q.42 . C
=T THT FIES & FF 5 JIer ST gar 27
Ans x 1. i
v oz ogy
X 3 g ¥
X4 grag
Question ID : 94891112430
Option 11D : 94891149717
Option 2 ID : 94891149718
Option 31D : 94891149719
Option 4 ID : 94891149720
Status : Answered
Chosen Option : 2
Q43 ofy w5 umOfd & fAffea FuReT s # X W 10 9 F F=E F ST & AT g, o HweT @
#r 2T T HfETl
Ans X 1. 20%
< 2. 10.50%
v 10%
X 4 20.50%
Question ID : 94891112155
Option 11D : 94891148618
Option 21D : 94891148620
Option 31D : 94891148617
Option 41D : 94891148619
Status : Answered
Chosen Option : 3




Q.44 37 37 HW F T97 I, ST GT AT AT F & 5 FIY FF FA AT T F RS HAT

AT, T, Tadfr
A B C D
Ans « 1.
X 2
X s
y
Question ID : 94891112297
Option 11D : 94891149188
Option 2 ID : 94891149185
Option 31D : 94891149187
Option 4 ID : 94891149186
Status : Answered
Chosen Option: 1
Q.45 3 seeg_ AT (JW Mauchly) H#IT S 9FT 53¢ (J Presper Eckert) g fffia wow zifyes g=it 1
FCYET FT AR FAT AP
Ans
X 1. AR | (Mark 1)
X 2. $8d@wdr (EDVAC)
X s AR 1l (Mark 1)
v 4 guAaTETEr (ENIAC)
Question ID : 94891112436
Option 11D : 94891149742
Option 2 ID : 94891149741
Option 31D : 94891149743
Option 4 ID : 94891149744
Status : Not Answered

Chosen Option :




Q.46 of y @ x %, 2000 ¥ AT § Y z F y%, 4000 F avET ¥ A x 3% z F &= T ey 30

Ans  of 1 7 = 2%
x z
2.0 =i
2
K3z-2=x
Xtz+2=x
Question ID : 94891112156
Option 11D : 94891148624
Option 2 1D : 94891148622
Option 31D : 94891148623
Option 4 ID : 94891148621
Status : Answered
Chosen Option: 1
Q.47 TITATAT USRI 9 ¥ 3ol AR @ smE & &= Fr g #1 oET s
Ans

v S

X 2 gEarfy
X s fgaTer

X 4 Rrarees
Question ID : 94891112424
Option 11D : 94891149696
Option 2 1D : 94891149693
Option 3 1D : 94891149695
Option 4 ID : 94891149694
Status : Answered
Chosen Option: 1
Q48 g # e AT (rolling plans) T BFT S & THT SR F TUAES FieT 92
Ans « 1 ﬂ ﬂ E é
X 2 g e
X3 T agtgz AT
Question ID : 94891112440
Option 11D : 94891149759
Option 2 1D : 94891149760
Option 31D : 94891149758
Option 4 1D : 94891149757
Status : Not Answered

Chosen Option :




Q49 o xt+2 =6239 A x > 0 & A x+ 2 F AN A A

Ans

vi9
<210
1

Xaﬁ

X 4 46239

Question ID : 94891112167
Option 11D : 94891148668
Option 2 ID : 94891148667
Option 31D : 94891148666
Option 4 ID : 94891148665
Status : Answered
Chosen Option: 1
Q.50 few o et R st # caEE T Fel H & T A # Fe A e R w, e
T HAFTS: AT T2 @ e wdg 2 & dHN 5a & = O S @ ey afde v 8wt
F TR w7 37
T
= agareT RS A& B
FE @ AT TG 2l
ICi=ar
| Fo #F T A E
Il. I = AT 741 &
Ans
v S & TAcEY gTee ST T 2
X2 sy | 3t 1| @t 9o = 2
X 3 Faa fasFy | 9 Far 2
X 4 Faa fasay || 9 =aT 2
Question ID : 94891112279
Option 11D : 94891149116
Option 21D : 94891149115
Option 31D : 94891149113
Option 41D : 94891149114
Status : Answered
Chosen Option : 2




Q.51 #rr 2021 & == ¥ 5w o Tewdhy onfie wder o 2048 F 3iefts & fas s #r owom 2

Ans « 1 ﬁ?ﬁ:}.
X 2 TEETe
X3 Ty eEr
X 4. AT
Question ID : 94891112406
Option 11D : 94891149622
Option 2 1D : 94891149624
Option 31D : 94891149621
Option 4 1D : 94891149623
Status : Not Answered
Chosen Option : --
Q.52
=@ &1 AT A9 fifaT
(10 + [(200 + J(S% + /841))
Ans «'1' 5‘\!!1
X 2 542
g} 5\&
K 4 545

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891112151
94891148603
94891148602
94891148604
94891148601
Answered

1




Q.53

Ans

10 3T 20 & FAIEEEr A AT

X120
X 2. 200
vz 40
X410

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status

94891112154
94891148614
94891148615
94891148616
94891148613

: Answered
Chosen Option :

1

Q.54 % AR it 39w i FEE, sudr Gise ¥ 5% e #1 3y w9 @ dvwe 210 m? &,

ar sEdr e g Hfaw
Ans X 1.210m
/2 2042m
v'3 1042 m
X 4 10m
Question ID : 94891112166
Option 11D : 94891148664
Option 2 ID : 94891148663
Option 31D : 94891148661
Option 4 ID : 94891148662
Status : Answered
Chosen Option : 3
Q55 gfxa:b=2:5b:¢c=5:8c:d=8:11% ara:d A a4 O TaF sUsT &7
A X 1.5:8
V2211
X327
X43:5
Question ID : 94891112158
Option 11D : 94891148632
Option 2 ID : 94891148630
Option 31D : 94891148631
Option 4 ID : 94891148629
Status : Answered
Chosen Option : 2




Q.56 ﬁumﬁwaﬁa;rimmgmﬁtahmmg ¥ ¥Eae wg fifaw)

Ans X1 26 3ttt 27

X2 26 3T 36
Vs 36 3T 27
X 4 46 3T 56
Question ID : 94891112152
Option 11D : 94891148605
Option 2 ID : 94891148607
Option 31D : 94891148606
Option 4 1D : 94891148608
Status : Answered
Chosen Option : 3
Q.57 . :
e 3818 (Moplah Rebellion) foker asit & gl gam am?
Ans 11921 - 1922
X 21923 - 1924
X3.1914 - 1915
X 41917 - 1919
Question ID : 94891112421
Option 11D : 94891149681
Option 2 1D : 94891149682
Option 3 1D : 94891149684
Option 4 1D : 94891149683
Status : Not Answered
Chosen Option : --
Q.58 =37 Fwgr 1 IO FX, o ST Ao & viF BEa (7) F T W 3 e 2
3,6, b, 12,7, 24 .11, 48,13
Ans x 1.
v
X 3.
X 4
Question ID : 94891112285
Option 11D : 94891149137
Option 2 1D : 94891149140
Option 31D : 94891149139
Option 4 1D : 94891149138
Status : Not Answered

Chosen Option :




Q.59

1787 AFTAT & FAaGgF HeUeT (Protem Speaker) Hid &7

Are X I =
X 2 GiAE Ag=
X 3 A Tsar
v 4 dE FAR
Question ID : 94891112428
Option 11D : 94891149712
Option 2 ID : 94891149710
Option 31D : 94891149711
Option 4 1D : 94891149709
Status : Not Answered
Chosen Option : --
Q.60 Fcgl it
== = a b
uﬁrﬁﬂ = =a+ b7 g, a@ra HX b F FF AT FfFT
Ans
X1la=0 3R b=0
o
—247
X2a=+7 3T b= :
; —z
«3- a=0 3‘ﬂT b= %
3
X4a=— 3R b=y7
Question ID : 94891112153
Option 11D : 94891148611
Option 21D : 94891148612
Option 31D : 94891148609
Option 4 1D : 94891148610
Status : Answered
Chosen Option: 1
Q.61 100 m =& T FE 64 km/h B T T T W §I LTS g IO faodE fFar F 8 km/h Fr
a1 ¥ gl @ e # 9N e # o oA A A
Ans X110 sec
v 2 5 sec
X 3 64 sec
X 4 15 sec
Question ID : 94891112162
Option 11D : 94891148645
Option 2 1D : 94891148646
Option 31D : 94891148648
Option 4 1D : 94891148647
Status : Answered
Chosen Option : 2




Q62 #fx 10 ¥ #1 T Tew, 15 OF1 & FT 3T F TR &, o Sfad o AT Ffe)

Ans o 1. 50%
< 2 40%
X 3 60%
X 4 70%
Question ID : 94891112160
Option 11D : 94891148638
Option 2 ID : 94891148637
Option 31D : 94891148639
Option 4 ID : 94891148640
Status : Answered
Chosen Option : 1
Q.63 ¥ HTAR, $FT AT FIA AN SN AHR F HIA FAT HAET FAC @A A AFFACT
&Y TE o
Ans .
X 1. gataf@ear & AT (policy of paramountcy)
X 2. =gt # f&=Ta (doctrine of lapse)
X 3
% Srar AR T & Fr AT (divide and rule policy)
v 4 ggraes gfer quielr (subsidiary alliance system)
Question ID : 94891112418
Option 11D : 94891149669
Option 2 ID : 94891149670
Option 31D : 94891149672
Option 4 ID : 94891149671
Status : Not Answered
Chosen Option : --
Q.64 ‘gurrdr wuw @ AT F Tgd A g TR (indemnity levels) fRuifte fee e #2
Ans K 1.
o= affaqfd TR - 50%, 60%, 70%, 80% 3 90%
v 2 A& arfagfd T - 70%, 80% 3R 90%
X 3 g arfaqfd ¢ - 50% 3T 75%
X 4 9 arfagfa &1 - 50%, 65%, 80% 3T 90%
Question ID : 94891112443
Option 11D : 94891149772
Option 2 1D : 94891149770
Option 31D : 94891149769
Option 4 1D : 94891149771
Status : Not Answered
Chosen Option : --




Q65 zfx A 3R B 0¥ =77 #0T ¥ fF tanA = cotB ¥, @ A + B & A 7g HSwl

Ans X1-180°
v 2. 90°
X3 0°
X 4 360°
Question ID : 94891112170
Option 11D : 94891148677
Option 21D : 94891148679
Option 31D : 94891148680
Option 4 1D : 94891148678
Status : Answered
Chosen Option : 2
Q.66 T wIFR & g T fawd e fFEw w1 yfed ‘ouwA FEw & wv # Aaw a i R @2
s X & ZITer IOTeTTT
X 2 m=rHEr FEwe
v o gAY TIg S
X 4 A HrETRT
Question ID : 94891112407
Option 11D : 94891149628
Option 2 1D : 94891149626
Option 3 1D : 94891149625
Option 4 1D : 94891149627
Status : Not Answered

Chosen Option :




Q.67 few 7w Fuet AR Frews F wEEE ) FA F & T AGEE F AT AGS g AR B, 5
TE WIS A Tt & Fed gde gy 8 ik wE & = @ ol & Ty afde w1 @ wer

T e BT E7
RYA
l. F5 #9 @< 2
Il @t wad & F
sy -

. ¥ &9 ¢ I
Il 7l & 9 &1

A X1 Faer frseEd || OTee AT B
X2 g | 3R 1l 2 aree w2
v ¢ Faer TTSHY | I ST ¢
X4 g o s grere JE7 T 2

Question ID : 94891112278
Option 11D : 94891149110
Option 2 ID : 94891149111
Option 31D : 94891149109
Option 4 ID : 94891149112
Status : Answered
Chosen Option: 3
Q.68 firdr aNENaT Fe & faT e, T AR ageF & @9 & FoU & A A tafla 7 ¥ Fla @
T &7
Ans

v 1 AT = (3 AT — Tgeleh) / 2

X 2 AT = 2 / (3 AT — agaIah)

X 3 ATET = (3 ACTHT + FgoTh) / 2

X4 AT (3 AT — EEEFIEF:]Z
Question ID : 94891112169
Option 11D : 94891148673
Option 2 ID : 94891148675
Option 31D : 94891148676
Option 4 ID : 94891148674

Status : Answered

Chosen Option :

1




Q.69

F&m 0.13 ﬁg F T H =g 9 W I AT a8 T Fas sy 2

Ans x 1 31
99
39
5 2
99
13
v =
99
X 4 i
13
Question ID : 94891112148
Option 11D : 94891148590
Option 2 1D : 94891148591
Option 3 1D : 94891148589
Option 4 1D : 94891148592
Status : Answered
Chosen Option: 3
Q.70 + +
G H IEr A IR ST R A #wHT O E
Ans X
-5
X 2 e
v gaa
X 4 ofgw
Question ID : 94891112274
Option 11D : 94891149094
Option 2 ID : 94891149096
Option 31D : 94891149095
Option 4 ID : 94891149093
Status : Answered
Chosen Option : 3




U7 B AR FUAT P FHIS: AT T F AT ¥ ST 14T 87

Ans

X . TR BT §OF

v 2 g T e s
X3 g B 5T

X 4 BT (IISCO) F&er T

Question ID :
1 94891149767
1 94891149765
1 94891149766
194891149768

Option 11D
Option 2 ID
Option 31D
Option 4 ID
Status :

Chosen Option :

94891112442

Not Answered

Q.72 fy 7 20% T whgfe == H X W TF IT F & 716,000 F For Fraw, 5w =y v aomar

Ans

o Twafe smuR X S §) a7 v A e, S I # vw ag ae geEeh gen

V' 1.719,448.10
X 2 338,896.20
< 3 348,897.30
K 4 312,784.25

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891112159
94891148633
94891148635
94891148636
94891148634
Answered

1

07 SrEatr yUTET F 1 AemaTEe o ®emeEe ¥ SUST 2T 2

Ans

v 11024
< 21002
< 3 3004
< 4 2015

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891112438
94891149751
94891149750
94891149749
94891149752
Answered

1




Q74 Grefafa # @ #la-wr e (triplets), Tgar 1 sp=mat &1 AT @ wHar §2

s X111, 3,7

X21,2 4
X 31,158 3
w45 7 4
Question ID : 94891112171
Option 11D : 94891148682
Option 21D : 94891148684
Option 31D : 94891148683
Option 4 1D : 94891148681
Status : Answered
Chosen Option: 1
Q75 IR I Fr TE T ¥ T TEW AG Ao, A 77 F Ol e F
Ans  of 1. 9933
< 2 6993
X 3 9977
X 4 9693
Question ID : 94891112144
Option 11D : 94891148575
Option 21D : 94891148576
Option 3 1D : 94891148573
Option 4 ID : 94891148574
Status : Answered
Chosen Option: 1
Q-76 + + + -
NATO (3cail ¥edifesd TS T9ed) 58 9T &7 T9aT 27
Ans 2
X 1. e fafasww ve oerw g g
X 2 HAT-AHNT AEF GegaT HHE
v 5 aT-gTe 9T ofer
X 4 OEpiae TgAET v fFemm gersa
Question ID : 94891112433
Option 11D : 94891149732
Option 21D : 94891149730
Option 31D : 94891149729
Option 4 1D : 94891149731
Status : Not Answered

Chosen Option :




Q.77 ghag fv v = weref & @, I el ovE @ Foa € AR v e ¥ e w1 AEe Y

Ans

&K1 =Y
jz.q:n@'
<2 e

X 4 TS

Question ID : 94891112293
Option 11D : 94891149169
Option 2 ID : 94891149172
Option 31D : 94891149171
Option 4 ID : 94891149170
Status : Answered
Chosen Option : 2
Q.78 wmmsit 64 R 16 F Ageaw TEIEaH (HCF) 3R Se@s FAMEed (LCM) &7 399 71 Hifew)
Ans X111 1
X221
X31:4
viq:2
Question ID : 94891112146
Option 11D : 94891148583
Option 2 ID : 94891148581
Option 31D : 94891148584
Option 4 ID : 94891148582
Status : Answered
Chosen Option : 4
Q.79 fadfr T ge s F, SWEET & SZEHT X SALTY & SDLWY forar sar &1 3 gz smor &
SPICY = &\ 9 formgm FAeem?
ans K1 STKFY
< 2 SQIEY
/< 3 SRIGZ
v 4 SSIFY
Question ID : 94891112275
Option 11D : 94891149099
Option 2 ID : 94891149100
Option 31D : 94891149098
Option 4 ID : 94891149097
Status : Answered
Chosen Option : 4




Q.80 zzrer & ToR (Deccan Plateau) ¥ 3frerter Red & fFg v $r 33 a8 o 22

Ans x1mm€f
X 2 Seitg fagy
X o ey gy
Vo e

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891112423
94891149689
94891149691
94891149690
94891149692
Not Answered

Q.81 ofy foser witer r fwar &= Tt Fr S }, A s TET-AIEA F @ Ao 3y W= Hfvw

Ans 1. 300%

v 2 800%
X 5 400%
< 4 900%
Question ID : 94891112165
Option 11D : 94891148658
Option 2 1D : 94891148657
Option 31D : 94891148660
Option 4 1D : 94891148659
Status : Answered
Chosen Option : 2
Q.82 37 37 I 1 TUT H, I [T AC et &k T & FIY F FAcAH T F ARG HAT g
TER, T, A
A B C D
Ans X 1. B
X2C
V3D
X4 A
Question ID : 94891112296
Option 11D : 94891149182
Option 2 1D : 94891149183
Option 31D : 94891149184
Option 4 1D : 94891149181
Status : Answered
Chosen Option: 3




B =¥ F e 3UEeT FR F AR F B ST

Ans

X TS & gHETAAE
Xz.ﬂﬁﬂﬂ'ﬂ:ﬂﬂ@ﬂﬁ?ﬂ
X3 ge F gETaiEe #

v\ FrETee F THTAAS FT

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891112412
94891149647
94891149646
94891149648
94891149645
Not Answered

W orafaRe § O BT o1 39 IR a9 &

Ans

K1 3R

X 2. ST FREEEE

v 3 T
(Y
X 4 gy
Question ID : 94891112437
Option 11D : 94891149747
Option 2 ID : 94891149745
Option 31D : 94891149748
Option 4 1D : 94891149746
Status : Answered
Chosen Option : 3
Q.85 gftrg % FEHT (Sangai Festival) THfeR e & o =7 & smifam frar s amem v -
HEpTa® 3c8T 87
Ans x =
I ARETeE
v 2 AU
X 3. B
]
X 4 Fared
Question ID : 94891112409
Option 11D : 94891149636
Option 21D : 94891149634
Option 31D : 94891149635
Option 4 ID : 94891149633
Status : Answered
Chosen Option : 2




Q.86 Ry o 7 3eTTa FT 3R BT 7T oA F 307 &

s

Students In Thousands
o o
Ok e Wi kol

Strength Of Students In Five Schools

25

A B C D E

Schools

—g==Girls =——g=DBoys

(Fee¥ - Strength Of Students In Five Schools - 9 @t & feanfeat #r §wam, Students In

Thousands -

fagzmeft gant &, Schools - fag@er, Girls - F=fFT, Boys - o15%)

T 7 ¥ #i9 @ F2 Tem 37

Ans ( 1.

Teft Tegmerat & o5 v g, FEfar Fr FEa ¥ 900 O B

X 2

58 ¥ 4 e J ags & gE, asthar T s ¥ 39 g

X 3

58 ¥ 3 e J wsfral $r g, J5a & ' ¥ 39 g

X 4

Teit Regmerat 7 @A & gEm, = Fr e ¥ 900 HOw B

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891112289
94891149153
94891149154
94891149155
94891149156
Answered

1




Q.87 Ry o &7 3eTga F1 AR BT 7T T F 37 &

Ans

Strength Of Students In Five Schools

5

45
8 a1
- 4
835
8 3 3 31
&
z 25 25
2 ?
515
o
2 1
&

05

[
A B c ] E

Schools

—Girls  =—gDBays

(T - Strength Of Students In Five Schools - I feameral & feanféal $r ¥, Students In

Thousands - Beamdt g=R #, Schools - fagzme@, Girls - F=fFaT, Boys - &)
o Taemmera & w=e &1 g, FEfeat & gem ¥ 40% 3Ew 37

X1 E
v A
X3 B
XD

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891112290
94891149159
94891149157
94891149158
94891149160
Answered

2




Q88 Prrifrg TTw FT reuTT Y AR RE 7T goT F T &1 (T = )

Ans

200

180
180
160
140
i
E 120
()
£ 100
y
B
=
=
50
a0
20
0
2014 2016 2017 2018

EExport B Import

(¥EsY - Values in Crores - T Fs H, Export - &dE, Import - 3Tame)
PrfaiRe & & frw a¢ & R 3R s &1 s ARwa 3

X 1. 2014

< 2 2017

V'3 2013

X 4 2016

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891112291
94891149163
94891149161
94891149164
94891149162
Answered

3




Q-89 Rrifha orF FT eI F AR BT 7T w2 FT 34T &)
@R Fz 2 A)

200
180

50
40 1

1
120
1 120
120 110
B0
&0
60
45
40
20
0
2013

2014 2015 2016 2017 2018

Values in Crores

EExport B Import

(iti'cﬁff - Values in Crores - ¥z g H, Export - icoich Import - 3TaTa)

2013#2015#@#&1@??@%%@%%%%%?

Ane X1 220
X2 318 FUS
X3 312 FUE
v 215 FE

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891112292
94891149165
94891149166
94891149168
94891149167
Answered

4




Q.90 T o Fudtr HR fFvwst F eTAES 9E HRY TA0 B & I anomst F ¥ FHT O wuw F fgg €2
F:
B el S Fr B A g e F B v = o @ wer B
T

. ¥ g @ SN N F F IR F AN H A A HaH w0 g
Il. =T & 3eoel & I F AT T T AR 308 O

e X g o gron TRk @ R
v 2 Faer uroT | AT 7
X s aror | 3T 1 @ e &
X 4 Faor anom || Afga &

Question ID : 94891112281
Option 11D : 94891149124
Option 2 ID : 94891149121
Option 31D : 94891149123
Option 4 ID : 94891149122
Status : Answered
Chosen Option : 2
Q91 T & A, B, C, D, E duT F & U &F 9T Teh ik T@T 9107 ¢ (64T 741 fF o6 &7 & @) B 3
DFdTAFmm T @ w I SMAEFTRAFTICHF M mom g AR F F aa &
FT AT @ATFBRDF IR W T D FTF F A a8 @ 74w 7
Mg §A 31 991 T F A B AN GUAE F FA A AErYd &, af fohde @91 @ T gA
TEm?
Ans  of 1. T
X 2 =T
o,
Pl i
X 4 a-
Question ID : 94891112301
Option 11D : 94891149201
Option 2 ID : 94891149202
Option 3 ID : 94891149204
Option 4 ID : 94891149203
Status : Answered
Chosen Option: 1




Q.92 fyafr fadw g amwr &, BOMBAY #I DQODCA Tmam =T £, &t 34 e amwr & ereg CALCUTTA &

g v fogr smeen?
Ans  of 1. ECNEWVVC
# 2. ECNEXWWC
# 3. EBNDWUUC
X 4 DCOEXUUB
Question ID : 94891112277
Option 11D : 94891149105
Option 2 ID : 94891149108
Option 31D : 94891149106
Option 4 ID : 94891149107
Status : Answered
Chosen Option : 1
Q.93 ;
AT SN T ¥egaa &7 AR T a1 99 # 37 &)
oF o # ®, #fer X s, Y gEw @ § 9 A9 9w gEe @ § afr d@k e
¥, 99T% 3w o {1 e, 9w 3R gieer avar e & 99l s e a6 eaw E
Y FEE F FIT W O O ¢ 3R TeAr wgear @2
Ans

v onREe
X 2 o9er
X3 =T

X 4 g

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891112299
94891149193
94891149194
94891149196
94891149195
Answered

1

Q.94 3z FEgr #1 9O FY, A SR Ao & g REd (7) F T W A @ 2

Ans

600, 650, 702, ?, 812
v 1. 756

<2 729

X 3. 760

X 4 764

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891112294
94891149173
94891149174
94891149175
94891149176
Answered

1




Q95 37 FEar 7 T W, A AR Al F v e (2) F T W 3T T 8

86, 42, 22, 10, ?

ae X1 4
X210
X3 8
vi6
Question ID : 94891112284
Option 11D : 94891149133
Option 2 ID : 94891149136
Option 31D : 94891149135
Option 4 ID : 94891149134
Status : Answered
Chosen Option: 4
Q.96 Foer 3t o, Fe A AR 9F {1 Rl Fge $r afem § Ao it S, e T sk gw
FGU & Hael & ged - Hew AN 9o 1 TR BiEw wver A-Rar & gwalar wae § 3R R, g
FT 91ET ¥, af Ao # A ¥ F4T §OY 37
Ans o1 oY
X 2 T
o
X s a@gd
4.
X o g8 F O
Question ID : 94891112280
Option 11D : 94891149119
Option 2 ID : 94891149120
Option 31D : 94891149117
Option 4 ID : 94891149118
Status : Answered
Chosen Option : 1
Q.97 &r 7 Sy @ e w1 AT 3EF 9 BT T g9 F 3o 9
F= AR A F Aer AR @ T aws §) B R A O A e T oawg 8 s, A s
i # w3y Aer T Twg § A A F F ew i e T oowg
= ¥ Fie T T mEYs S e g 2
me X1 E
v 2 e
X 3 @
X 4 drer
Question ID : 94891112303
Option 11D : 94891149210
Option 2 ID : 94891149211
Option 3 1D : 94891149209
Option 4 1D : 94891149212
Status : Answered
Chosen Option: 3




Q.98 el ¥ 3§ Few F oTAA F, A€ FAGEAT Mo T F oY S R & € g@er qof @ S

ab_, ac_, ade, _ef, a_g

Ans X 1¢, d, b, f
v2c d af
X3a b ab
X4b d, af
Question ID : 94891112286
Option 11D : 94891149144
Option 2 ID : 94891149141
Option 3 1D : 94891149142
Option 4 ID : 94891149143
Status : Answered
Chosen Option : 2
Q99 s aHt & A 397, B % 39 T S 1 C 1 S99, B & o 5 3T ¥ D FIw, B F
I=T T 60 kgaﬁa:%,ﬁrgrAé:m#SG kg FF I =8 ¥ fFaer == @
Ans X 1D
X2C
X 3B
VA
Question ID : 94891112282
Option 11D : 94891149128
Option 2 1D : 94891149127
Option 31D : 94891149126
Option 4 1D : 94891149125
Status : Answered
Chosen Option: 4
Q.100 et e & 48 Tagzredt &1 w=fradl $r o, wsat #1 GEar 1 3w 31 o v wdr - W & i
FX ¥ 154 & sk o w=feat & I B @ g &, o 9 B i ow ot @ dwe 7
ae 1. 20
X2 26
X3 30
v 4 23
Question ID : 94891112302
Option 11D : 94891149205
Option 2 1D : 94891149207
Option 31D : 94891149208
Option 4 1D : 94891149206
Status : Answered
Chosen Option: 4
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